Unit 7: Representations of Exponential Relations

PRE-TEST
Determine if the sequence is geometric. If it is, find the common ratio.
1.8,7,6,5, .. 2.1,2,4,8, ...
. e ¢ . ¢ s _S 2 Y
¥°T 777 o7 7= 3= §=2
Not Geometric Geometric r=2
Find the recursive formula for each of the following:
3.4,—-12,36,—108, ... a, =y 4, ;2,—6,—18,—54, a, =-7
=12 _ - 36 _ _ -lo . - -1& _ -5Y _
g = g =3 —;f =-3 | =2 = =y =3
s o =] - .
LCln - (;(/\ ..i " 3 a,' - al‘—l 3
Find the explicit formula for each of the following:
_ _ - n~/
2. 1,6,—36,216, ... a'_‘ =q, - r 6‘.3, 6,12, 24, “ 3
—_— - ‘,Eé_— - Alg - - a— S —_—= _l-
= = n-| - X D=
dy = =1 (~0) (a, = 3(2) i

Given the following geometric sequences answer each of the following:

7.—1,-2,—4,-8, ...
A. Find the next three terms B. Find ag C. Find aq
‘::f‘ = 45 =-8(2=|-¢ £Xp|f0f7L ﬁf‘mulc\ fxplicf'/' ém\ulu
) = - A= ” i6 ~¢
da.2 4 :'/(9[})2@ a a'f g{,(z) - Qi = =1 (2)
™ =B s ==1(2)"" = -i(a) = -1 (2)"
_ A, =32(2)=6Y] = =1 (5i
$er - (u5) ~ [T it
- =\=512)
8.—4,—-12,-36,—108, ...
A. Find the next three terms B. Find ag C. Find a4,
=3 dg= -lop(s) Exolert Fomula Explicit Remuly
- n- i
- ay = &‘{(3) S s -L/(z)': ’
G273 g, =-3aq(3) |97 UG = —y(s) =~y (3)
e g = -4 (2187) = -4 (177147)
~36 a, = ~97a(3) ,
G | - CE) - F7otsa)




a'\ = QI (r)n-l

u.)'l'n3

a (1-¢")

By =

USl'nS

Find the missing term or terms in each geometric sequence.

W?\/"”l

9. ..,—2,__ ,—72,.. 10: iy 20518,
= —|A a, = 6
1,_ 12, ooy Ay s =32
Cj 0.- 8 (4 =I¢
— 4. ..,1,__ ,_ ., 16

W @y 135 |
[ ="-3125]

RN [ U U

=3, 16...,3,___ _ ,_ ,23328;...
{ wm{ G, = 18| (a;=10%)
Za'/= -24\ a5 = -~ ¥8) [ ay=¢y8) A, - 3588
T ,__,—15625, ... 18 —4 —-2916

Evaluate each geometric series described.

19.2—-10+50-250..,n=6

E: —52 o;\

20.-3-15-75-375..,n=6

21.—2—6—18—34 .. n—

22.2—-12+72-432..,n=

6 8
[s. = ~725) [5: = ~Y738%0)
23.39_,(5™ 1) | 24. Z%=1(3'5";1)
[5} 4882@ ]5‘3 = 292968
25.a,=1,r=5n=7 26. a; = —4,r=-2n=28




1 / an = Q, ((.)'\ l
q, Az a5 R _2((.>3’I
Gy = ~A-06 = ' :Z.Z = '2-(;)2
i
G =

an = 4, ({‘)"—,
4, 4, s /?:Z(f)sl
azt: a 3::6] : ‘;-)
[7=4e
F=Er
@ ey :l/ ;-/ ;—/ ‘?/, &= q/ (r)"'l
t - 3 4 ;
_ -8 =1 ()
0,: = ‘/ A= z - - _I(r)3
. = -
G2 a=Ly] Tl
=r
B Y - o
®. /0'/ 7 P / 032/. —a’,, —a, r) .
" e 7 32= -4 (r)
- ‘ : _-32 - ’L{(('g
01“—‘ q}:@ _J )




n-1
;= PP a,=a, (c)
G, a4, ¢ !
2 3 ‘/‘ i gl = l(r);l
4, =].3 = 81 = 1(c)*
: [3] -

A=
a e /é/ n —.q,,(__r)
a, a, ds q? ds /é = / (r)s-[
b= 1-2 = [Z) = 1(c)!
Gy =22 = [4 | dfle = ulr?
d'{ =Y A= o A
| n-|
@ iy '\3/ ! =) =1 " ~9, ... b (r)‘-’
4, 4o 43" Gy 0; Gy -9 = '3((‘>
o 96 = -3(c)’
az -::'"3.'( : ”T ’_:—3’-)—— |
4 = ~6-2 = [-I2 332 =4c”

dc,’-"/ﬂ'a'l:@..' d

4s = =3Y.2= |“‘/8l

o, 23338 .. 4y = 4, ()"
p /p / / , / . 61
S 5 4y 4 7 23328 = 3 (r) :
@} = 3 { = @ ‘ ‘23)3)28 :v———éf‘)'i :
a; = 18- ¢ = [l0F] J7776 = 5 *
Gy = lo¢- ¢ = [¢Y5) ¢ =

s = 6Y8- ¢ = [3858)



~/56/?};, a‘ - 0] [r>h“l

h

-15eas = -1 (¢)7"

= ¢
b= -l-5 = [5] —I{fzf : I-fr')

= 755= [2s Jiseas = gr’

6/‘,,=-;(5.5= 5 =r
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8 - _ n-|
® ..., Y —) —) =) —y —, AN, 4, = a, (r)
h M AT e % - 2406 = -4 ()"
G,= 43 =T[-Ia ‘ -2406 = -4 ()’

03: “lR-3 = -36 7
4, = ~3¢-3= [-log| - 7§9 -t
=
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()-r)
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—— | ~ =5
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|+ 5§

= A(-15 -3124§
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@‘3'*15—75-—375..,/,\:6 ¥ = Q,(I—rn>

LT A
4G = =3 | | CF=F )
”%ig att S, = -3(1-(5)°)
| -5
nN= 6 |  n
| = -3(I~1s¢as)
= 3(-15e24)
=¥
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S, = “f (1-¢")
4, = -2 SRR o R Rk
i _ ¢
Tl S 12 (=)
-3
h=k = -2 (1 - 729)
™ | '
= -2(-72%)
5 “A
= {456
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@ 2~12 +72~433..., n=§

s = 4 0=¢")

h
q =& o
Tl s - Jy = X(I—(w)ij—
| = (-¢
h=§ )
| = 2(1-1¢79¢1¢)
I + 6
2’31(*1(.'795’5)
Ei
= =~3359230
7
= [-4T79%8%0
@ Q 3\ 5_0,(I~r")
Z “HB n "~ :
=
n=|
4= 5" = 50 T
r= 2 = 1(1-1953125)
Y
= = 1 (-153124)
Y o
= —1‘753121
=Y
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5., _ a‘(’_rn>
n _  —

| =r

58 = 3(’—(5)?>

-

j= &

3(1-39¢2s)
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.-.(_/
= 3(-3%¢ay)
-4
-11T1872
- Y

= 2292‘7685
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=5

= 1(1-7%125)
-y o
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